An example scenario based exam question
(2010 paper)

All the questions in this section are based on the following scenario. You are advised to read the scenario carefully and ensure that you refer to the scenario to illustrate your answers. 

SCENARIO

A small IT company (QWERTY) has decided to build a search engine to assist in finding where the cheapest DVDs are on sale (on the internet) within the UK. They have built an application which searches all of the known sources and stores this data on their server.

Q2
QWERTY has read the following statement by Donald Burleson based on an eBay employee Randy Shoups presentation which states “that eBay has moved processor-intensive operations out of the database, and all sorting and SQL joins are handled within the application layer, not the database.”

(a)
QWERTY have asked that you explain why eBay may have done what has been reported and what the architecture is that supports this.

[10 marks]

 (b)
QWERTY have asked you to give a critical appraisal of the advantages and disadvantages of the database approach that QWERTY was expecting to use, compared to the eBay approach.

[10 marks]

